AR ARZANR) L0 ERF - FH $4cikis RAEFLEF & 4

- @ p#Hi110#82 0P (-)~111&# 172 19p(=2)>17 20p (w ) %547 %
ZONPRARPERY D i¥- 33T B 15~18:00 A&t £ 3 19:00 -

ERE S A
LERIEF L GHER google 2H4F L4 > 7 L% R Qrecode & £ 2
EFfRR —>§Mfr —>BEFFE i e PR BAEIIY L
2L:% google # ¥ ég °

ijﬁﬁ&ﬂﬁ%ﬁFﬁé’%%ﬁﬁ%ﬁ°

AR LY A3 ERES 60 280 (-)12:00% > — EBFr4 87 20 R
(2)12:00 ™ = 3R 2 o
I~ S 3

. e A 5 53125 ¢ RV - B~ F% P B~ 3 EREZE 151 2 A7
ERR & %yt &r}, _E/.u]{?_;;ig —‘FIE FIa P AT R ] & o

2. Mg r B N RAESE L] 4 ¥l HT AL R4 A JRFEY B A T
FALIAR Lo MEASI R B FL (3 M2 1‘5’4"%7 P HFREF LR BER YR R
ﬁﬂ“vn*—ﬁﬁ,‘é%»‘thﬂ) °

3. IrAgIFW Lo EB Y S FEB-RFS 06 30 P () = 10 Bl EAS
BPE TP 2p (T )a M EREFLILDIPACHILE > - B R F 4 B8
23 P () F 108 B >80 26 p (2 )m t F gt ad b e B
FH -

AP EPF L AR AR HE(-EHII0THRE 25 108 %F ~ ¢ £ 106K
S BEB P RHKTD)

\\\ﬁr

f‘-
¥

-\m
4%‘

= S JRARP o TERE A ERAE S L T A ARE S -
AR EFE I NT AESYGRR
E3N I P i T B % =
(-~ 455 /] pF 10, 660 -~ 1.4&*"”‘;‘4@@%%?")%@“0
Pz ~m) 299 -] pF 7,000 ~ R.BHE9/3(I T A EE iy £ 51
% (1 ~= 261 -] 6,115 ~ GG R
i\ﬁ%#¢ ER SRS S F SETRE E2E EIREC RN Y RN R

AR LR TR XN ADIITARE R Pasz“rﬂf Ao TR H B R o
- ~110 %‘?& F%twﬁ@@?i ]‘}";\r‘;a LR 7]:‘ Mg %Q?Iﬁﬁ’f# FJ pﬁtﬁii i g\\z%_//r\"\' Tk
k-] 42 03-5635018 & = A R | #ff F e 03-5326345 ~ 1% 42 -



